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Charge dispersion is higher in 'BD' => Surface resistivity is smaller in 'BD' 5




Charge Per Hit for BD and CLK Modules for 200 ns
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Capacitance per unit area is higher in 'BD' than in 'CLK"
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Normalized highest Pulse profile for BD and CLK
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Pulse shape is comparable in BD and in CLK




r-phi resolution comparison between Mod3-CLE and Mod5-CLK at High Field for 200ns
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r-phi resolution comparison between Modd-BD and Mod5-CLK at High Field for 200ns
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r-phi resolution comparison of Mod0-BD at High Field for 100ns and 200ns
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r-phi resolution comparison between 100 ns and 200 ns for Mod5-CLK at High Fiald
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comparison of Z resolution between BD and CLK at High Fiald for 200ns
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comparison of Z resolution between two CLK at High Field for 200ns
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camparison £ resolution between 100 ns and 200 ns lor ModB-CLE at High Fiald
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comparison of Z resolution between 100ns and 200ns for a CLK at high field
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Thank you
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